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1. These shoes are made the finest leather.
(A) for (B) in (C) of (D)from
2. Anew idea occurred me.
(A) in (B) to (C) from (D)out
3. Unless you work harder, you will fail the examination.
(A) in (B) from (C)to (D)out
4. | could not figure what he said.
(A)in (B) from (C) to (D)out
5. Which team the basketball game yesterday ?
(A) win (B) wins (C) won (D) winned
6. Rachel didn’t speak English enough to give a speech in the conference.
(A) fluently (B) fluenty (C) fluent (D) fluentily
7. David is now the best student in the high school. It’s that he will get a scholarship to the
state university.
(A)available (B) certain (C) doubtful (D)various
8. Whenever | am in trouble, he always helps me out. I really his assistance.
(A) accomplish (B) achieve (C) associcate (D)appreciate



9. Traveling is a good way for us to different cultures and broaden our horizons.

(A) assume (B) explore (C) occupy (D) inspire
10. Many of the old people in Taiwan live alone because theyare _ widowed __ divorced.
(A) either...or (B) neither...nor (C) not only...but also (D) would rather...than
11.1f I __ enough time, I would have gone abroad with you.
(A) has (B) had (C) has had (D) had had

12. All the job applicants were asked to complete a two-page form with their personal information
before with the interview.

(A) exhausting (B) disputing (C) proceeding (D) consulting
13. You should understand that learning a language well is the result of practice.
(A) constant (B) instant (C) hesitant (D) assistant

14. Since it is already midnight, we .
(A) had better leaving (B) ought to have leave (C)should take our leave (D) might as well leave

15. Police found the car in the parking lot last week.

(A) stealing (B) stolen (C) which steals (D)which is stolen
16. Johnson : I wish you Merry Christmas.

Linda : to you.

(A) Same (B)Such as (C) The same (D) Also
17. Maria : Can | talk to Pat, please ?

Pat’s brother :

Maria : Maria Smith.

(A) Who's calling, please ? (B)What did you say ?

(C) She’s not home. (D)Pat’s on the phone.
18. Jim : How long have you been in Korea ?

Johnson : :

(A)Ten years ago (B)Long time ago (C) Three times a year

(D) Since I was five years old
19. Louis : What do you do for a living ?

Sarah : :
Louis : You must be very busy then.
(A) I’'m 50 years old  (B) I’m a doctor (C) I'live a good life (D) I live in Taiwan
20. The office of South Korean President Lee Myung-bak party colleague Park Geun-hye for
winning the presidency, though officials are still counting votes in Wednesday's election.
(A) congratulate (B) congratulated (C) has congratulated (D) congratulation
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